2007 3

56217

Key Words : flywheel, eddy current, joule loss, hysteresis |oss,

0 ,6
1.1 102,539, 98,880

1.2
3 3
2.2
1000 ,
SUS403 1.75x 10° [A/m]],
1 SS400 1.0x 10" [A/m?]
4 BH
2' ’
2.1 2mm ,0.5mm
2 , , X
, z
, EM Solution®
7 (2) 7
2 7
0 360



3.00
2.50

2.00 Wy
51.50 ’
100 ,240 W]
050 —&— SUS403
' —&— SS400 1600 ‘ ‘
0.00 ‘ 1400 || —®—2000[pm] | ‘
0 100, 1 g 71200 300 —— 1500 [rpm]
[A/m] 1200 =1 —a—1000 frpm] [ ",
1000
4 B-H —
=. 800
600
3. 400
3.1 200
5 , 2000 [rpm] 0.5 [mm] 0
2.0[mm]
z 41 235
2
250 15 prmmmms
[l 1 7777777
‘= 150 e
3 =05 [~
>, 50 0
-50 -0.5
-150 -1
-50 0 50 100 150
-250 e H [kA/m]
0 45 90 135 180 225 270 315 360 —B 0T B 04 [T]
—%—B 15[1] ——B 19 [T]
0 [degree]
—&—0.5mm ——1.0mm 7 4
—A—1.5mm —@—2.0mm 4
5 »
3.2 s
100kA , 100 [KA], 2000 [rpm], 1 [mm]
6 2000 [rpm], 650 [W]
1 [mm] 360 [W] 800 W] ,
, 2
5.
3.3 SUS403
7 E ] 9’ E ]
W, = k.fb ,
k, , 2000 6.
[rpm], 1 [mm] , (1) http:/fwww.ssil.com/em/EM Solution/jal
2

W, SA-03-1-6,RM-03-1-6 (2003)



